? (&, AD = 3cm, BC = 4cm )

Jolt

Z

7cm

3

@
®

PO : BC o]t}

AP:AB=3:70|2&

AP : AB =

3:7=P0O:4

w2t PO =

12
7

(cm) o]t}




@ 7.lem @)7.2cm @ 7.3cm

@ 7.4cm ® 7.5cm

B ~
AD//BC °©]E& AAOD < ACOB

~ AO:CO=AD:CB=6:9=2:3

AAEO @ AABC o]B 2

AO:AC=EO:BC=2:5

EO:9=2:5.. EO = 3.6(cm)

ADOF ©0 ADBC ©|E2

OF:BC=DO:DB=2:5

OF:9=2:5.. OF =3.6(cm)

. EF = EO + OF = 3.6 + 3.6 = 7.2(cm)




ohS 193} 28 AkelE ABCD o)A AD // EF // BC °|1, AF —
4, EB=3 m+n=22% 1, m 9 327

B-<__ —_--C
~n_—

® 6 @ 7 3)8 @ 9 ® 10
m:n=4:7

4dn = Tm

= s = =

m-+n=m 4m—4m—

m=3_8




4. OABCD9|A AD//BC®]il 2AE = BE, AD = 6cm , BC = 15cm
A o, MN o] Zo]=?

@1cm @ 2cm @ 3cm @ 4cm ® 5cm

~&B ~

AE:AB=EN:BC=1:3°9/221:3=EN:15.. EN=5
BE:BA=EM:AD=2:3°]E22:3=EM:6 .. EM =
4

oo MN =5-4=1(cm)




& 193} o] AD//BC < Atk E ABCD o4 AE = EB
EF//AD 9 ul, PQ o] Zol2 vh2] 13t AL,

A ~10cm < D

@3cm @ 4cm ® 5cm @ 6cm ® 7cm

~&B

AABC 9|4 EQ = -BC = 8(cm)

[\

AABD o4 BP = L&D

[\)

~PQ=EQ-EP=8-5=3(cm)




o2 2ol 1/ /m//n D W, x+y 2]

e Fofoler.

i

vV V
02
L

w

~

3
6:9=y:8°A
9y = 48
.16
Ly = 3
16
E:8:4:x
16
Ex:32
. x=206
o,




7.

thg 7ol 4 BD , AC 9] Z3o] 717 A, M ©] 3 ME —
DE ] ol

D

2d

@ 6 @7  ©)s @ 9 ® 10

A A o4 BC of Halgt 2148 10 DE o Wit He
ot
D
A AAMF = ACME ©]E2 ME = MF
B 5 C
AF //BC ©]|22 DF = FE = 2ME =4
~.DE=DF+FE=4+4=38

F 2




8. thg IolX AD //EF /BOY o, th3-& Fstolet.

Alem-

v V. VvV vv Vv VvYy
X
it

(1) ACOB
dED @7:16
112
HEFD (3) 25 cm
112
e @) 23 cm

~&B

(1) ZADO = /CBO(917})
(AOD = /COB(%E A2
AAOD 0 ACOB(AA RS

(22DO:BO=AD:DB=7:16

(3) AABCo||4 AO : AC=EO : BCo|2&2
7:(7+16) =EO: 16

23EO =112
— 112

(4) ACDAOIA CO:CA=FO:DAC|EZ
16:(16+7) =FO:7
23F0 = 112
112




9.

th& 1”4 AB // PQ // DC, AB

10,PQ =6 ¢ w, x o] 22

O 12 @ 13 ® 14

(@)15 ® 16
B

BC:QC=AB:PQ o2&
PQ:CD=BQ:BC
6:x=2:5

x =15




10.

o7 )8 ® 9

AQ:AP=AE:AC=24:15=8:5
AQ:AP=DQ:BP

8:5=DQ:5

DQ =8




>
> & 20cm

B

BM :BA =MP : AD o4 1:2=MP : 10 °]t}.
w2k MP = 5 o]t}

MQ = 2MP ©|2& MQ = 10cm ©]t}.
1:2=10:BC o]2& BC = 20 °o|t}.




12. the 133} 2ol AD//EF//BC ¢l Athe]E ABCD 9|4 AE : EB =
2:1 ¢ o, MN ¢] Zo]=?

_-l6em-
B¢ —C
~=20cm- "~

@8cm @ 9cm @ 10cm @ 1lcm ® 12cm

B ~
1) aABEM, aBAD 9|4 /B = 5%, /BEM = /BAD
wtA] ABEM @2 ABAD (AA §+)
HSHZEM:AD=BE:BASEM:16=1:3
BN = Lem
ii) AAEN, AABC 9|4 /A & &%, /AEN = /ABC
w2hA AAEN 00 AABC (AA & E,)

SeHZ2 AE: AB=EN:BC©2:3=EN:20




13. AD//BC <l Atthe]E ABCD oA AB¢ DC &) o] 22t E | F
o]Ja, AD =4,PQ=1¢ uf, BC 9] do]&=?

@® 5 2)6 ®7 @ 8 ® 9

~&B

HESF7EH 2R
QF:AD=1:2 QF =EP =2 o|t}.
mzﬁzlzwﬂ_‘:{i

J:x=1:2

S x=6

mebq BC = 6 o]t




14. g 1904 AB//PQ//DCo]1 AB = 15cm, PQ = 9cm, BC =

20cm @ o, DC + BQ 9] Zol&=?

BC-QC =20-12 = 8 o]t}
BC

ii) BQ : =8:20=2:50|22
PQ:CD=9:x=2:5
_D:%Scmolt}

— — 45 61
ot DC+BQ = — +8 = —(cm)




15. o5 J1"elA AD//PQ//BC ¢ W, PQ ©] ZAol&?

~-10-~_

KA
p Q

® 105 @ 11 @12 @ 125 ® 13

B

AC ¢} BD 9] w3& Rt oHH
E:ﬁz?:&ﬁ:ﬁ:ﬁ{:molﬂik5:ﬁ{:15
PR=6

%G AP: AB=PR:BC =DQ:DC =RQ:BCo|E&
RQ=PR =6

~PQ=12




16. the 193} o] AB//EF//CD |3 AB = 4cm , BF = 3cm
CD = 8cm , /DCF = 90° 2 & o, gEFCD ©] Yol =?

D
\
\
\
A 8'cm
dex /
\
\ /
BsceniF C
® 20cm? @ 24cm? 3)32cm?
@ 36cm? ® 40cm?

~&B

AB:CD=AE:CE=1:20°]|t}.
i)ﬁ:ﬁzl:?olﬂiﬁ:C_Dzlz?)olﬂr.

wet] EF: 8 =1:39]28 EF = gcmo]q‘.

ii)1:2=3:CF, CF = 6(cm)

1 2
" DEFCD:§XGX<8—|—§> =3x%=32(cm2)




17. AD//BC ¢l Althe]E ABCD o4 AOAD = 15cm? ¥ o, AODC
o] §lo|& o5tH?

_-10cm~ _

A D

~<l4cm--"

@ 7cm? @ 10cm? @ 1l4cm?

@ 20cm? ®)21cm?

B ~
AODA 0 AOBC ©| 22
AO:0OC=AD:BC=10:14=5:7

wt2bA AOAD : AODC =5: 7

- AODC = 21cm?




